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SSC CHSL (10+2) 2022

®* What number will come in place of the question mark (?) in the given number
series?(SSC 2005)

o &I TS GEAT ST H IHATEH G (?) o T T hiH-Sf G&AT AT
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SSC CHSL (10+2) 2022

®* What number will come in place of the question mark (?) in the given number
series?(SSC 2005)

o &} TS GEAT Y@ H IHATH f%ié (?) o T T hi9-TT GE&IAT AT

'9\/27 31\/55 161,112
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SSC CHSL (10+2) 2022

®* What number will come in place of the question mark (?) in the given number
series?(SSC 2005)

o &I TS GEAT ST H IHATEH G (?) o T T hiH-Sf G&AT AT

'3,9,27 16 64,35,25, 1257




SSC CHSL (10+2) 2022

® Karan, looking in the south direction, walked straight for 2 km and then took a
right turn at 90° and walked 2 km. Finally he took a left turn at 45° and walked
1 km. Accordingly, where 1s he now with respect to his starting point?

* T, afequr fomm o dErd gu HTY 2 fordl =etr ST 8T | 90° T AT ST TS 2
ToRHT ST <IAT| SFd: 8 45° T ST 7T AR 1 {ohHT =Tl TETER, T8 376 I
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* A person runs to his office in the north direction. Rotate it to the left and then
rotate to the right and then rotate to the right. In which direction is he facing?

* Teh, Stk ST AT oh 1T I IS 2 SR ST 71 I SIT3 TR FATE SR fH
aTg A FATY I [T TT5 IR FATY) T8 TohE TaR1T ol TR HE 3hleh =ct (6T &7

. South/aferoT
. North/3d<

: East/qcﬁ
. West/aig
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* Pointing to a photograph of a lady, Mrinalini said, "The father of her son 1s the
only son-in-law of my mother. How 1s Mrinalini related to the lady in the

photograph?*

* U HIEAT shl T shl I Eehd hid G UM = e, "6eh sie o fUar 7 91
TShald QTG & JUMTeiHT aeafik ATet AT ¥ fohe JehR Sl & 2

. Sister/daqd
B. Mother/ATdT




* [f K means +, R means X, T means -, and J] means +,Then

*40TI120K60R 87J 12
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* A, B, C,D and E each have different amount of money. C has more money
than only E. B has more money than D but less money than A. Who among

them has the most money?

* A, B, C,D 3TR E H 8 Tcdch o UTH 3TTT-3TeT ST S | C h UTH hdeT E H
AAferes g g | B o U8 D ¥ 31feres Tohd A & & 9 81 370 | fohdeh urer o

.B
B.A
(ON )
D.None of these
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®* Each of A, B, C, D and E scored different marks. B scored less than only E
and A scored more than only C. Who gets the highest marks among them?

* A, B, C,D 3R E H ¥ Tcdeh 3TeTT-3TAT 37ch UTH H¥aT 2 | B el E ¥ /A
3Th TAT & 9T A et C T 37Tereh 37k UTH HhidT 2l ITH TG 3118k 3ih
I UTH AT S 2
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* All the opposite faces of a big cube are painted with the colors yellow, red and
green. After that it is cut into 216 small equal cubes. How many small cubes are

there where one surface is green and the other surface 1s yellow or red?

* U 1€ ¥ o Y faudia gdag &1 o, A1t 3T X T o T 8 T IR-T 2| 39k o1S
" N Y NN : . e N
@ SIS o= H ohTeT ST 2| U o Bl o7 2 STel Ueh ¥dg I 8 T &l 3

T e 9 dTaT AT AT T 819 N "Q‘W, G
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* £3:144 ::72: 7
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® There are tigers and birds in a zoo and counting their heads the number 1s 70
and their feet are 210. So find out how many birds are there?

» e fafiaer i e ik Fafeer ¥ e oo e 7 fily et we g 70 S 37
U hl AT 210 BT =1 T JTd shitolg ferad] e %‘7 w\‘

%\;/4 A.37

B. 35
C.55
D.25
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® In a certain code language COMPUTER 1s written as RFUVQNPC. How will
MEDICINE be written 1n that code language?

* Te 1T % A1 § COMPUTER % RFUVQNPC i@ ST 21 36t e |mT 8
NIEDICINE ol foh® TehTL forert s

oM pPuTE AN
<

a0} 16° ,
U IRy ane . +
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® Find the triangle

* By J1a s

A.39
B. 40
C.42
D.None of these
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* Select the option that 1s related to the third word 1n the same way as the second
word is related to the first word.

o 3 foohed AT 9 L ST A 19X I7ee | €T Joh K Teord @ oI U e SRR
Geiferd 2|

* Kick : Football : : Backstroke : ? A. Weight lifting

”~

B. Swimming

4 | 0/ : C. Cricket
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* [f1!'9=20,9!5=28 and 5!5 = 20, then find the value of 7!3 =?
e 119 = 20, 915 = 28 3T 5!5 = 20, Al 7!3 = ? T HF JTd hiSY|
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A word is represented by only one set of numbers as given in any one of the alternatives. The sets
of numbers given in the alternatives are represented by two classes of alphabets as shown in the given
two matrices. The columns and rows of Matrixi are numbered from 0 to 4 and that of Matrixll are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column,
for example 'C' can be represented by 30, 43 etc and 'S’ can be represented by 86, 97 etc. Similarly, you have to
dentify the set for the word 'VOLT',

UF e Hdd Us WEI-AHg ¢ann & mam g, o f fwedt # F 5 e A
fear @ &1 Rwedt # U 7 segr-wg el & & @@ @ @iv v § oA
f& fov v & meggl # OBl gl & wed R d9fed # wew 0 ¥ 4 3R
Hegg-ll & 5 & 9§l 3 gl ¥ UF HEW A Ggel 3@ Ul R @ H TR
HEA AN 2T S AT &1 3eERer F fav ‘¢ F 30, 43 3l eawr ¥ o wEan
& duT ‘S’ F 86, 97 S EAN SR I FHaT ¢l S TE W HUH WF A R0 =g
VOLT' & foT §#g &I Jgaiet g

Matrix | Matrix Il

HTEGE - |

2
B
J

A.67,96,31,65
B. 20,89,14,59
C. 43,58,31,65
D. 30,57,30,68




